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Answer Key and Explanation 

 

Question 1: Which of the following best captures the central theme of the passage? 

 

A) The centralisation of disaster management authority as a solution to disaster response 

delays.   

B) The impact of climate change on disaster frequency and intensity in India.   

https://t.me/Daily_CR


2 

C) The inadequacies of the Disaster Management (Amendment) Bill in addressing climate-

induced disasters.   

D) The need for cooperative federalism in disaster management. 

 

Answer: C   

Explanation: The passage primarily discusses the shortcomings of the proposed Disaster 

Management (Amendment) Bill, especially in the context of climate-induced disasters, which 

makes option C the most appropriate. 

 

Question 2: Which of the following can be inferred about the author’s stance on the 

centralisation of disaster management? 

 

A) The author believes centralisation hinders effective disaster management.   

B) The author is neutral about the centralisation of disaster management.   

C) The author thinks centralisation is necessary but should be balanced with financial 

autonomy.   

D) The author supports further centralisation to ensure quick responses to disasters. 

 

Answer: A   

Explanation: The author criticises the centralisation of disaster management, citing delays in 

response and inadequate financial devolution, indicating that the author believes it hinders 

effective disaster management. 

 

Question 3: The author mentions the exclusion of heatwaves from the notified list of disasters. 

What does this suggest about the current approach to disaster management? 

 

A) The current approach is inclusive but needs minor adjustments.   
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B) The current approach is flexible and adaptive to new types of disasters.   

C) The current approach is primarily focused on traditional natural disasters.   

D) The current approach is static and fails to consider emerging climate-related challenges. 

 

Answer: D   

Explanation: The exclusion of heatwaves, despite their increasing severity due to climate 

change, suggests that the current approach is static and does not adapt well to new and 

emerging climate-related challenges. 

 

Question 4: What does the author imply about the effectiveness of the Disaster Management 

(Amendment) Bill in decentralising functions? 

 

A) It decentralises functions and ensures sufficient financial resources.   

B) It successfully decentralises disaster management at the local level.   

C) It centralises functions while pretending to decentralise.   

D) It decentralises functions but fails to provide adequate financial support. 

 

Answer: C   

Explanation: The author argues that the Bill aims to decentralise functions without the 

necessary financial devolution, which creates more problems than it solves, indicating that the 

decentralisation is ineffective. 

 

Question 5: Based on the passage, which of the following is a likely consequence of the 

proposed Bill’s approach to disaster management? 

 

A) Increased delays in disaster response due to complex bureaucratic processes.   
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B) More efficient and quicker disaster response at the state level.   

C) Better management of climate-induced disasters like heatwaves.   

D) Enhanced financial autonomy for states to manage disasters. 

 

Answer: A   

Explanation: The passage suggests that the Bill complicates the chain of action by centralising 

power, leading to potential delays in disaster response, making option A the most likely 

consequence. 

 

Question 6: What does the author mean by “the incongruity is exacerbated by the localised 

nature and impact of climate-induced disasters”? 

 

A) Climate-induced disasters affect all regions equally, yet are managed centrally.   

B) The central government is better equipped to handle localised disasters.   

C) Local governments are fully capable of managing climate-induced disasters without central 

intervention.   

D) Climate-induced disasters have different impacts depending on the region, making a 

centralised approach less effective. 

 

Answer: D   

Explanation: The author suggests that because climate-induced disasters vary significantly in 

impact across different regions, a centralised approach is less effective, hence the “incongruity” 

between centralised management and localised disasters. 

 

 

 


